12:37 ol T

ﬂ%(?kﬁzvmﬁ%ﬁgfi ! <19 OUFTYIILRTF-JHE Q B =

;;/ s % é E=E

J7IYFHILRF-T
PIEHLEOHLVEASEFHIOISL

5 8 T8 5 8

BEBAVI-HIgT UDTHETES ! 1004 F=100M
FIFRT WD THIEZS !

% |

5o 55
04 1]

CHASTRKLT HEBRY-NVEAS ! B15FIREEE

5'}97\y7 2023F 4R &0

SEANO : 0000000

G- X7 )(- YL
A 5 &

gFlBzIN5 ! 5000 mue 3RBmur 105 mu: 20%7mu:

2 % 4 % 6 % 8 % 10 %

1000A=RIAIS = 1000A RIS = 1000AZFIRIS = 1000AZFIRIS = 1000A=RIAIS =
20f(0HE5 401 HI5 6035 80fi( HI5 100f1>H35

XBRREABNS 12-AH0ORBRMARTCIONE. AARGFERLIBTWIESESIIVILED,



